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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2yWidth (GeVR

0.005

o

0 200 400

600

Channel Number

Pi0 Mass (lter

tion2)

eV

Eoof

)
00

@00
~~

Goof

600}

x10

400

Entries 2.179807e+08
X2 /ndf 9414 /165

Prob 0
po 7.141e+05
pl 0.1346
p2 0.007813
p3 3.103e+05
p4 0.01517
p5 -1.367e+07
p6 3.756e+06
p7 2.493e+05

0.06 008 01 012 014 016 018 0.2

2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

400

600
Channel Number



2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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o/p vs. Iteration (E1, E2 > 500 MeV)
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)
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3Mass Spectum for final iteration (E1, E2 > 700 MeV)

x10 Entries 2.553062e+07
o X2 / ndf 4977/ 165
- Prob 0
CFi = + 0 po 2.12e+05
s Fit o/p =5.312 +0.012 % b1 01354
F p2 0.007191
o p3 7.025e+04
o p4 0.01482
- p5 -2.924e+06
o p6 9.611e+05
- p7 -2.947e+04

F S—

o R A S T T T

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

Mass Spectum for final iteration (E1, E2 > 1100 MeV)
Entries 3502087
F X2 I ndf 1972/ 165
r Prob 0
C Fi = + 0, po 4.534e+04
- Fit o/p =4.988 +0.018 % b1 01357
- p2 0.006771
= p3 1.261e+04
- p4 0.01458
o p5 -4.345e+05
- p6 1.439e+05
- p7 -6333

= . —

E 1 vl b e e e

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]



1000

800

600

400

200

8!

X
[
o

Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)

200 400 600 800

1000 1200 1400 1600

Current iteration([i] - last iteration[i] gain constants

Entries

1536

06

L1
-0.04

-
-0.02

50

40

30

20

10

1200

1000

800

600

400

200

Current iteration (Blue) and current ccdb constants

Red)

Entries

1536

0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

Current iteration[i] - current ccdbli] gain constants

x10

-3

Entries

1536

.06

L1
-0.04

L1
-0.02



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


